
MATHS

BOOKS - NAGEEN MATHS (HINGLISH)

INTRODUCTION TO TRIGONOMETRY

Solved Examples

1. In  , if  cm , then find the

vlaues of the following : 

(a) Sin A 

(b) Cos A 

cot A 

cosec C 

( e) sec C 

tan C

Watch Video Solution

ΔABC, ∠B = 90∘ AB = 5cm, BC = 12

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_i2vMTToeKT4l


Watch Video Solution

2. In , then find the values of all

other trigonometric ratios for .

Watch Video Solution

ΔABC, ∠B = 90∘ and sinA =
4

5

∠A

3. If 
, find the
other five trigonometric ratios.

Watch Video Solution

cos θ =
8

17

4. Given 
, find
other trigonometric ratios

Watch Video Solution

tanα =
5

12

5. In  , find the values of all other

trigonometric ratios for ,

Watch Video Solution

ΔABC, ∠C = 90∘ and cos esA =
13

12

∠A

https://dl.doubtnut.com/l/_i2vMTToeKT4l
https://dl.doubtnut.com/l/_vseZ5N4uVb2E
https://dl.doubtnut.com/l/_5ge1kq9xNRlI
https://dl.doubtnut.com/l/_kfPi27xGBN6w
https://dl.doubtnut.com/l/_tQmWohUoFYzv


6. In  ,  is right - angled . If AB= 1 cm , AC =3 cm and BC = 

cm , then find the values of cos B and sin C.

Watch Video Solution

ΔABC ∠A √10

7. If cos ,then find the values of sin A and tan A.

Watch Video Solution

A =
1

3

8. In , tan B  , find the values of cosec B and cos B.

Watch Video Solution

ΔABC = √3

9. If  then find the value of .

Watch Video Solution

cos θ =
4

5
(sin θ cos θ + tan2 θ)

https://dl.doubtnut.com/l/_tQmWohUoFYzv
https://dl.doubtnut.com/l/_tL8GHqqjYubb
https://dl.doubtnut.com/l/_UF40Rf0GkreJ
https://dl.doubtnut.com/l/_zjBQXg0UKw5R
https://dl.doubtnut.com/l/_gEUJFotzDPtz


10. If sec A= 2, then find the value of 

Watch Video Solution

+
1

cot A

cosA

1 + sinA

11. DeltaABC and length of BC =180 m, ten

find the length of hypotenuse of .

Watch Video Solution

In , < B = 90∘ , tanA =
3

4

ΔABC

12. If ,then prove that : 

Watch Video Solution

cot A =
b

a

=
a sin − b cosA

sinA + b cosA

a2 − b2

a2 + b2

13. In the adjoining figure , AM =BM and  If , then

find the values of the following : 

(i)  (ii)  (iii) 

∠B = 90∘ . ∠BCM = θ

sin θ tan θ secθ

https://dl.doubtnut.com/l/_5ku0QbzW4m9k
https://dl.doubtnut.com/l/_MPeD89riYPdc
https://dl.doubtnut.com/l/_l9ep703yZQ7W
https://dl.doubtnut.com/l/_wWGI2Qfasy6Z


Watch Video Solution

14. In  , right - angled at Q , PR +QR = 25 cm and PQ = 5cm .

Determine the values of sin P , cos P and tan P.

Watch Video Solution

ΔPQR

15. In  , right - angled at P , OP = 7 cm and OQ - PQ =1 cm .

Determine the values of sinQ and cos Q .

Watch Video Solution

ΔOPQ

16. In the adjoining figure ,  (each  . angle BC= 3 cm

and length of side opposite  in  is 5 cm , then find the squre

root of length of side opposite to  in .

View Text Solution

∠BCD = ∠ADB 90∘ )

∠C ΔBCD

∠D ΔADB

https://dl.doubtnut.com/l/_wWGI2Qfasy6Z
https://dl.doubtnut.com/l/_VAAcx7dqpHe2
https://dl.doubtnut.com/l/_iJJzsDW4rsM0
https://dl.doubtnut.com/l/_knWjBt0Ie3E8
https://dl.doubtnut.com/l/_bBfkguzKxyno


17. Evaluate : 

Watch Video Solution

sin2 60∘ tan 45∘ − cos2 45∘ sec 60∘

18. Evaluate : 

Watch Video Solution

cos 60∘ cos 30∘ + sin 60∘ sin 30∘

19. Show that : 

Watch Video Solution

cos 60∘ = 2 cos2 30∘ − 1

20. If A=30, then show that


Watch Video Solution

sin 3A = 3 sinA − 4 sin3 A

21. If A , then evaluate tan 2A.

Watch Video Solution

= A = 30∘

https://dl.doubtnut.com/l/_bBfkguzKxyno
https://dl.doubtnut.com/l/_2UgrV49yjWqe
https://dl.doubtnut.com/l/_FfQCsfhGwzQl
https://dl.doubtnut.com/l/_wZmAqQkUGSHK
https://dl.doubtnut.com/l/_4W2UsKVq7TrF


Watch Video Solution

22. If , then show that : sin A cos B+ cos A sin B= sin

(A+B)

Watch Video Solution

= 60∘ and B = 30∘

23. If A  , then find the value of sec 2A.

Watch Video Solution

= 15∘

24. If sin , then find the value of tan .

Watch Video Solution

x = 1
x

3

25. If , then find the values of A

and B.

View Text Solution

sin(A + B) = 1 and cos(A − B) =
√3
2

https://dl.doubtnut.com/l/_4W2UsKVq7TrF
https://dl.doubtnut.com/l/_ydRhe9BjSqba
https://dl.doubtnut.com/l/_uFB6Eh8JjxyM
https://dl.doubtnut.com/l/_BWWkAty4HwEP
https://dl.doubtnut.com/l/_SVQEzIseYBaK


View Text Solution

26. In an acute angled  , if tan (A+B-C) = 1 and sec (B+C-A)=2 , then

find the value of cos (4B-3A) .

View Text Solution

ΔABC

27. If  then evaluate .

Watch Video Solution

sinA = cosA, tanA + sin2 A + 1

28. Show that : sin 

Watch Video Solution

30∘ = √ 1 − cos 60∘

2

29. given that  find  when 

Watch Video Solution

tan(θ1 + θ2) =
tan θ1 + tan θ2

1 − tan θ1 ⋅ tan θ2
(θ1 + θ2)

tan θ1 = , tan θ2 =
1

2

1

3

https://dl.doubtnut.com/l/_SVQEzIseYBaK
https://dl.doubtnut.com/l/_sedHweiZJc5Z
https://dl.doubtnut.com/l/_a7FS2o4xEH1N
https://dl.doubtnut.com/l/_QQGr31PbqqTV
https://dl.doubtnut.com/l/_txjPkmAH4WMr


30.  is equal to :

Watch Video Solution

cos 1∘ . cos 2∘ . cos 3∘ .........cos 179∘

31. In the adjoining frgure ,a right - angled triangle ABC is shown un which

AM=CM=3m . If  , then find AC.

Watch Video Solution

∠ACM = 15∘

32. Smlplify : 

Watch Video Solution

(1 + tan2 θ)(1 − sin θ)(1 + sin θ)

33. Prove that 

Watch Video Solution

cos2 θ cos ec2θ + sin2 θ = cos ec∘ θ

https://dl.doubtnut.com/l/_txjPkmAH4WMr
https://dl.doubtnut.com/l/_JImPGOIV5iuf
https://dl.doubtnut.com/l/_UXxHYIuu1d2A
https://dl.doubtnut.com/l/_qJafKnow9d20
https://dl.doubtnut.com/l/_fcxrSMyz7YiF


34. Prove that : 

Watch Video Solution

sec4 θ − tan4 θ = 1 + 2 tan2 θ

35. Prove that : 

Watch Video Solution

= cot θ
1 + cos θ − sin2 θ

sin θ + sin θ cos θ

36. If , then find the value of 

Watch Video Solution

tan θ =
4

3

3 sin θ − 2 cos θ

3 sin θ + 5 cos θ

37. Prove that : 

Watch Video Solution

(secA + tanA)(1 − sinA) = cosA

38. Prove that : cos ecA − cot A =
1

cos ecA + cot A

https://dl.doubtnut.com/l/_102Ubb3tFeQ5
https://dl.doubtnut.com/l/_ywd1gbGd5Kg1
https://dl.doubtnut.com/l/_5Fn868VSGJUw
https://dl.doubtnut.com/l/_WzHav5q7ziJT
https://dl.doubtnut.com/l/_eq1GwJWfmF2C


Watch Video Solution

39. Prove that : 

Watch Video Solution

=
secA + 1

tanA

tanA

secA − 1

40. Prove that : 

Watch Video Solution

− = 2 cos ecθ
tan θ

secθ + 1

tan θ

1 − secθ

41. Prove that : 

Watch Video Solution

= (cot θ − cos ecθ)21 − cos θ

1 + cos θ

42. Prove that : 

Watch Video Solution

sin θ(1 + tan θ) + cos θ(1 + cot θ) = cos ecθ + secθ

https://dl.doubtnut.com/l/_eq1GwJWfmF2C
https://dl.doubtnut.com/l/_DAocNtmZBY6Z
https://dl.doubtnut.com/l/_Bt22bTl7Jx2j
https://dl.doubtnut.com/l/_Lkjw65k2APSd
https://dl.doubtnut.com/l/_YQkQnHE1TJow


43. If 
prove that 

Watch Video Solution

secθ + tan θ = p, sin θ =
p2 − 1

p2 + 1

44. If , then prove that

Watch Video Solution

cos θ + sin θ = √2 cos θ cos θ − sin θ = √2 sin θ

45. Prove that 

Watch Video Solution

=
1 + secθ − tan θ

1 + secθ + tan θ

1 − sin θ

cos θ

46. 

Watch Video Solution

=
1 + secA

secA

sin2 A

1 − cosA

https://dl.doubtnut.com/l/_qtMI0R36ZwJF
https://dl.doubtnut.com/l/_cvAdYlQKLLBe
https://dl.doubtnut.com/l/_BVMdB8Pbvlgs
https://dl.doubtnut.com/l/_c5D4A3QRomIT


47. Prove that  using the identity 

.

Watch Video Solution

= cos ecA + cot A
cosA − sinA + 1

cosA + sinA − 1

cos ec2A = 1 + cot2 A

48. Porve that : (cosecA-sinA)(secA-cosA)

Watch Video Solution

=
1

tanA + cot A

49. prove that 

Watch Video Solution

( )
2

= tan2 A
1 − tanA

1 − cot A

50. If 
 and 
 , prove
 that


Watch Video Solution

x = r sinA cosC,   y = r sinA sinC z = r cosA

r2 = x2 + y2 + z2

https://dl.doubtnut.com/l/_9dviClUb5UZq
https://dl.doubtnut.com/l/_EhZk4SQlkQ4u
https://dl.doubtnut.com/l/_lqTZdRXnbkPQ
https://dl.doubtnut.com/l/_7ZWWC5YwWc7K


51. If  and  then

prove that : 

Watch Video Solution

p sin3 α + q cos3 α = sinα cosα p sinα − q cosα = 0,

p2 + q2 = 1

52. if  then prove that  = 

Watch Video Solution

3 sin θ + 5 cos θ = 5 5 sin θ − 3 cos θ |3|

53. lf  and  are the roots of the equation 

then prove that 

Watch Video Solution

sinα cosα ax2 + bx + c = 0

a2 + 2ac = b2

54. If  and , then express p in terms

of q and also q in terms p.

Watch Video Solution

secα − tanα = p cos ecα + cot α = q

https://dl.doubtnut.com/l/_CEi8PwONJBqD
https://dl.doubtnut.com/l/_r2dhMim4IzSv
https://dl.doubtnut.com/l/_UPGEeHy1AKPv
https://dl.doubtnut.com/l/_rCqUgQ7xGAAd


55. if  and  is

independent of , then (A)  (B)  (C)  (D) 

Watch Video Solution

x = a cos3 θ sin2 θ and y = a cos2 θ sin3 θ
(x2 + y2)

p

(xy)
q

θ 4p = 5q 5p = 4q p + q = 9 pq = 20

56. If  then find the value of 

Watch Video Solution

sinx + sin2 x + sin3 x = 1

cos6 x − 4 cos4 x + 8 cos2 x

57. Check whether the equation  is an

identity or not ?

Watch Video Solution

=
tanϕ + sinϕ

tanϕ − sinϕ

secϕ + 1

secϕ − 1

https://dl.doubtnut.com/l/_rCqUgQ7xGAAd
https://dl.doubtnut.com/l/_j98CYoBbqNGT
https://dl.doubtnut.com/l/_1D1NpznCahZQ
https://dl.doubtnut.com/l/_5JnJjrX5UG3u


58. Check whether the following equation 

is an identity or not ?

Watch Video Solution

tan4 θ + tan6 θ = tan3 θ sec2 θ

59. Solve : .

Watch Video Solution

2 sin2 θ = , 0∘ < θ < 90∘1

2

60. Find the vlaue of  if .

Watch Video Solution

θ 2 cos 3θ = 1 and 0∘ < θ < 90∘

61. Find the value of  if and  lies in first quadrant.

Watch Video Solution

θ sec2 θ + tan2 θ =
5

3
θ

https://dl.doubtnut.com/l/_aG4sfNdA5KeW
https://dl.doubtnut.com/l/_zWGjSVAG53aB
https://dl.doubtnut.com/l/_03ZrLZKd35vb
https://dl.doubtnut.com/l/_P5Hf8S8XzswN


62. If , then solve the equation 

.

Watch Video Solution

0∘ < α < 90∘

+ = 4
sinα

1 − cosα

sinα

1 + cosα

63. If , then find the value of  from the equation 

.

Watch Video Solution

0∘ ∠θ∠90∘ θ

= 3
cos2 θ

cot2 θ − cos2 θ

64. Evaluate the following : 

(i)  


(ii)  

(iii)

Watch Video Solution

sin 58∘

cos 32∘

sec 42∘

cosec48∘

tan 37∘

cot 53∘

https://dl.doubtnut.com/l/_y3DlEFsL951O
https://dl.doubtnut.com/l/_1YUpaPtt0aE1
https://dl.doubtnut.com/l/_kmVrCnb1OQ8S


65. Evaluate : 

(i)  

(ii)

Watch Video Solution

tan 42∘ − cot 48∘

sec 36∘ − cosec54∘

66. Prove that : (i)  

(ii)

Watch Video Solution

sin 42∘ cos 48∘ + sin 48∘ cos 42∘ = 1

cos 70∘ cos 20∘ − sin 70∘ sin 20∘ = 0

67. Prove that : 

Watch Video Solution

cosec 65∘ cos 25∘ + cosec20∘ cos 70∘ = 2

68. Without using trigonometric tables , evaluate :

( )
2

+ ( )
2

+ 2tan 15∘ tan 37∘ tan 53∘ tan 60∘ tan 75∘tan 20∘

cos ec70∘

cot 20∘

sec 70∘

https://dl.doubtnut.com/l/_JgUVlJOE0weg
https://dl.doubtnut.com/l/_ixKtuAhQATzo
https://dl.doubtnut.com/l/_EjoapmSjSt7v
https://dl.doubtnut.com/l/_kJ6M5nUTucMf


Watch Video Solution

69. Without using trigonometric table, evaluate the following:

Watch Video Solution

−
cos ec2(90 − θ) − tan2 θ

4(cos2 48∘ + cos2 42∘ )

2 tan2 30∘ sec2 52∘ sin2 38∘

cos ec270∘ − tan2 20∘

70. Without using trigonometric tables , evaluate the following : 

Watch Video Solution

+ − (cos2 20 + cos2 70∘ )
cot(90∘ − θ) ⋅ sin(90∘ − θ)

sin θ
cot 40∘

tan 50∘

71. Prove that 

(i)  

(ii) 

Watch Video Solution

sin(40∘ − θ)cos(50∘ + θ) = 0

1 sec(65∘ + θ) − cesec(25∘ − θ) = 0

https://dl.doubtnut.com/l/_kJ6M5nUTucMf
https://dl.doubtnut.com/l/_BbOSdjruqWDK
https://dl.doubtnut.com/l/_i2RMNitKAa1m
https://dl.doubtnut.com/l/_LGQPShrwEy2G
https://dl.doubtnut.com/l/_CPO13r9LWgEc


72. Express each of the following in terms of trigonometric ratios of

angles between  

(i)  " " (ii)  " " (iii) 

cos81^(@)+cot80^(@)`

Watch Video Solution

0∘ and 45∘

sin 70∘ + sec 70∘ tan 65∘ + cosec 65∘

73. If where 2A is an acute angel , then find the

value of A.

Watch Video Solution

tan 2A = cot(A − 21∘ )

74. If  where 3A is an acute angle , then find the

value of A.

Watch Video Solution

sin 3A = cos(A − 10∘ )

https://dl.doubtnut.com/l/_CPO13r9LWgEc
https://dl.doubtnut.com/l/_iGbIHQ3RBjSN
https://dl.doubtnut.com/l/_W1LTlf2SevkD


75. If  is an acute angle , then find the

value of  .

Watch Video Solution

sin(θ + 24∘ ) = cos θ and θ + 24∘

θ

76. If A and B are acute angles such that  , then show that

A+B .

Watch Video Solution

tanA = cot B

= 90∘

77. If A, B and C are interior angles of a triangle ABC, then show that

.

Watch Video Solution

sin( ) =
B + C

2

cosA

2

78. Using the formula . find the

value of sin .

cos(A + B) = cosA cosB − sinA sinB

15∘

https://dl.doubtnut.com/l/_LzYbvLj41mxx
https://dl.doubtnut.com/l/_UtiohOd8g1hv
https://dl.doubtnut.com/l/_SZVazmDbUV7v
https://dl.doubtnut.com/l/_A7A6h0AiMEIV


Problems From Ncert Exemplar

Watch Video Solution

79. If  , then find sin  in terms of p.

Watch Video Solution

sin 36∘ = p 54∘

80. If , then find the value

of x.

Watch Video Solution

tan 1∘ tan 2∘ tan 3∘ tan 4∘ . . . tan 89∘ = x2 − 8

1. If , then show that sin A cos A`=(12)/(25)

Watch Video Solution

tanA =
3

4

https://dl.doubtnut.com/l/_A7A6h0AiMEIV
https://dl.doubtnut.com/l/_zwr6IwRaIgDH
https://dl.doubtnut.com/l/_sGGXyuO8ITty
https://dl.doubtnut.com/l/_O0Hc137wkEMF


2. If  then find value of 

Watch Video Solution

√3 tan θ = 1 sin2 θ − cos2 θ

3. given :  find 

Watch Video Solution

15 cot A = 8 sinA and secA

4. If
 
,
calculate cos A and tan A.

Watch Video Solution

s ∈ A =
3

4

5. If  are acute angles such that cos A= cos B, then show then

show that .

Watch Video Solution

∠A and ∠B

∠A = ∠B

https://dl.doubtnut.com/l/_bmZ26j9sTi72
https://dl.doubtnut.com/l/_j6eJWcukEaVA
https://dl.doubtnut.com/l/_3B3UWLqutvzU
https://dl.doubtnut.com/l/_feCUV4tol3TL


6. 

Watch Video Solution

cos 45
sec 30 + cos ec30

7. Choose
the correct option and justify your choice : (i) 

(ii) 
`(a)"\ "t a

Watch Video Solution

=
2 tan 30o

1 + tan2 30o

(a)\ s ∈ \ 60o (b)\ cos \ 60o (c)\ tan\ 60o                  (d)\ s ∈ \ 30o

=
1 − tan2 45o

1 + tan2 45o

8. If
 
and
 
`0o B ,`
find
A and B.

Watch Video Solution

tan(A + B) = √3 tan(AB) = ;
1

√3

9. In 
 , right-angled at B, 
 and 

(see figure). Determine the lengths of the sides BC and AC.

Watch Video Solution

ΔABC AB\ = \ 5\ cm ∠ACB = 30o

https://dl.doubtnut.com/l/_U9Y6x9WwpMjo
https://dl.doubtnut.com/l/_fVELG9iNwPgu
https://dl.doubtnut.com/l/_WhJGj34wzieE
https://dl.doubtnut.com/l/_J0a2ZWb4XSyf


10. In 
 ,
 right-angled at 
and 
 . Determine


and 
.

Watch Video Solution

PQR Q,  PQ = 3cm PR = 6cm

∠P ∠R

11. Prove that : 

Watch Video Solution

√(1 − cos2 θ)sec2 θ = tan θ

12. Prove 

Watch Video Solution

(tan θ + 2)(2 tan θ + 1) = 5 tan θ + 2 sec2 θ.

13. If , then prove that .

Watch Video Solution

cosA + cos2 A = 1 sin2 A + sin4 A = 1

https://dl.doubtnut.com/l/_J0a2ZWb4XSyf
https://dl.doubtnut.com/l/_U82r9CSpengq
https://dl.doubtnut.com/l/_fCGT2Mesn9BM
https://dl.doubtnut.com/l/_kCeibQuYnDdg
https://dl.doubtnut.com/l/_o7xeZ7bJSCSE
https://dl.doubtnut.com/l/_BFtpMIb3U8s0


14. Prove the following identity: 

Watch Video Solution

sec4 θ − sec2 θ = tan4 θ + tan2 θ

15. Prove that : 

Watch Video Solution

1 + = cesecα
cot2 α

1 + cosecα

16. Prove that : .

Watch Video Solution

(sinα + cosα)(tanα + cot α) = secα + cosecα

17. Prove that : 

Watch Video Solution

+ = 2cosecθ
sin θ

1 + cos θ

1 + cos θ

sin θ

18. If , then find the value of .2 sin2 θ − cos2 θ = 2 θ

https://dl.doubtnut.com/l/_BFtpMIb3U8s0
https://dl.doubtnut.com/l/_Ly4n6sQ79J0r
https://dl.doubtnut.com/l/_pjKrkhfMSV44
https://dl.doubtnut.com/l/_RbN6jihohxkH
https://dl.doubtnut.com/l/_mn0OGocMghgd


Watch Video Solution

19. if  then prove that 

Watch Video Solution

tan θ + secθ = l tan θ =
l2 + 1

2l

20. If  then prove that 

Watch Video Solution

a sin θ + b cos θ = c

a cos θ − b sin θ = √a2 + b2 − c2

21. If  then prove that 

.

Watch Video Solution

sin θ + cos θ = p and secθ + cosecθ = q

q(p2 − 1) = 2p

22. Prove that : tan θ + tan θ + tan(90∘ − θ) = secθ ⋅ sec(90∘ − θ)

https://dl.doubtnut.com/l/_mn0OGocMghgd
https://dl.doubtnut.com/l/_OJqFxiyr7rjN
https://dl.doubtnut.com/l/_SyEFfUF6Fnvf
https://dl.doubtnut.com/l/_fX8MEk8sTXnK
https://dl.doubtnut.com/l/_mpJ9aMFrc4wG


Watch Video Solution

23. Shown that : 

Watch Video Solution

tan 48∘ tan 23∘ tan 42∘ tan 67∘ = 1

24. If tan A= cot B. prove that : A+B

Watch Video Solution

= 90∘

25. Express  in terms of trigononmertic ratios of angles

between .

Watch Video Solution

sin 67∘ + cos 75∘

0∘ and 45∘

26. If tan A  where 2A is an acute angle , find the value of

A.

= cot(A − 18∘ )

https://dl.doubtnut.com/l/_mpJ9aMFrc4wG
https://dl.doubtnut.com/l/_TOlB4Iq8Tpt3
https://dl.doubtnut.com/l/_Gl7SaEP3QDfb
https://dl.doubtnut.com/l/_BxJeFQa1MwUx
https://dl.doubtnut.com/l/_Kel0Yi1tkG3W


Watch Video Solution

27. If sec4A  where 4A is an acute angle , find the value

of A.

Watch Video Solution

= cosec(A − 20∘ )

28. The value of the expression 

 is :

A. 

B. 0

C. 1

D. 

Answer: B

Watch Video Solution

cos ec(75∘ + θ) − sec(15∘ − θ)

−tan(55∘ + θ) + cot(35∘ − θ)

−1

3

2

https://dl.doubtnut.com/l/_Kel0Yi1tkG3W
https://dl.doubtnut.com/l/_W4EKLPTrj9JY
https://dl.doubtnut.com/l/_znq6GAsYCkzX
https://dl.doubtnut.com/l/_g03VHSJLpoid


Exercise 8 A

29. If cos , then canbe reduced to : 

(a)  

(b)  

( c)  

(d) 

Watch Video Solution

(α + β) = 0 sin(α − β)

cos β

cos 2β

sinα

sin 2α

1. In , then find all other

trigonometric ratios for .

Watch Video Solution

ΔABC, ∠B = 90∘ and sinA =
3

5

∠A

2. In , then find all other

trigonometric ratios for .

W t h Vid S l ti

ΔABC, ∠B = 90∘ and cosA =
9

41

∠B

https://dl.doubtnut.com/l/_g03VHSJLpoid
https://dl.doubtnut.com/l/_RG7aJCdFPs2P
https://dl.doubtnut.com/l/_ciZFwh0Izwn9


Watch Video Solution

3. In , then find all other

trigonometric ratios for .

Watch Video Solution

ΔABC, ∠A = 90∘ and tanB =
5

6

∠B

4. In , then find all trigonometric

ratios for .

Watch Video Solution

ΔPQR, ∠R = 90∘ and cosecP =
13

5

∠Q

5. In , then find all other

trigonometric ratios for .

Watch Video Solution

ΔABC, ∠C = 90∘ and secB =
5

4

∠B

https://dl.doubtnut.com/l/_ciZFwh0Izwn9
https://dl.doubtnut.com/l/_JNBBV2KfZdVX
https://dl.doubtnut.com/l/_BMG4uILV1pJM
https://dl.doubtnut.com/l/_oo7tN1UAdxin


6. In , then find the

values of the following : 

(i) sinB 

(ii)sinA 

(iii) tanB 

(iv)secB 

(v)cotC 

(vi) "cosec" C

Watch Video Solution

ΔABC, ∠A = 0 = 90∘ , AB = 6cm and AC = 8cm

7. In =26cm` then find the

values of the following : 

(i) tanA 

(ii) cot C 

(iii) cosC 

(iv) sinC 

ΔABC, ∠B = 90∘ , AB = 24cm and AC

https://dl.doubtnut.com/l/_kxPjqQaFygWy
https://dl.doubtnut.com/l/_M9vV90qCNHCK


(v) cosecA 

(vi) sec A

Watch Video Solution

8. If then the find the value of .

Watch Video Solution

tan θ = 2,
2 sin θ cos θ

cos2 θ − sin2 θ

9. If ,then find value of .

Watch Video Solution

secθ =
3

2
2 cos θ − tan2 θ

sin2 θ + 1

10. If ,then find the value of .

Watch Video Solution

sin θ =
1

3
sin θ ⋅ cos2 θ + cosecθ

11. If ,then find the value of (i) , (ii) sin θ =
a

b
cos θ tan θ

https://dl.doubtnut.com/l/_M9vV90qCNHCK
https://dl.doubtnut.com/l/_QgYEYprHLDvJ
https://dl.doubtnut.com/l/_z0I24T6VSSZZ
https://dl.doubtnut.com/l/_TsqfFzUh76RJ
https://dl.doubtnut.com/l/_genqRgWxin8c


Watch Video Solution

12. (i) If ,then find the value of 

Watch Video Solution

tan θ =
a

b

2 sin θ − 3 cos θ

2 sin θ + 3 cos θ

13. If ,then show that .

Watch Video Solution

secθ =
13

5
=

tan θ

1 + tan2 θ

sin θ

secθ

14. If ,then find the value of .

Watch Video Solution

tan θ =
3

4
secθ + tan θ

15. If ,then find the value of .

Watch Video Solution

tan θ = √2 − 1 cot θ

https://dl.doubtnut.com/l/_genqRgWxin8c
https://dl.doubtnut.com/l/_GP5nhZ46OkqU
https://dl.doubtnut.com/l/_73O5sFz99t70
https://dl.doubtnut.com/l/_ylNpBItAFVUV
https://dl.doubtnut.com/l/_41HzvGas9Mct


16. If ,then find the value of 

Watch Video Solution

tanA = and tanB = √3
1

√3

cosA cosB − sinA sinB

17. If ,then find the value of .

Watch Video Solution

cos θ =
3

4
sin θ and tan θ

18. If ,then find the value of .

Watch Video Solution

cot θ =
12

5
sin θ ⋅ secθ + cos θ ⋅ cosecθ

19. If ,then find the value of .

Watch Video Solution

sin θ =
7
25

√
−1 cos θ

1 + cos θ

https://dl.doubtnut.com/l/_9oBvo5eyroVw
https://dl.doubtnut.com/l/_nBjzLjhQkuoe
https://dl.doubtnut.com/l/_TcXf0bOd7SmD
https://dl.doubtnut.com/l/_5OsIsRANKJ4o
https://dl.doubtnut.com/l/_29KAK5DlRXyj


Exercise 8 B

20. ,then find the value of .

Watch Video Solution

sin θ =
1

√2
3 sin2 θ − 4 sin3 θ ⋅ cos θ

1. Find the value of .

Watch Video Solution

sin 60∘ cos 30∘ + cos 60∘ sin 30∘

2. Find the vlaue of .

Watch Video Solution

2tan 30∘

1 − tan2 30∘

3. Find the value of .

Watch Video Solution

2sin 30∘ cos 30∘

https://dl.doubtnut.com/l/_29KAK5DlRXyj
https://dl.doubtnut.com/l/_hSrd8fKOxjC0
https://dl.doubtnut.com/l/_zf728zwQhZBq
https://dl.doubtnut.com/l/_p3QCPPvWElnn
https://dl.doubtnut.com/l/_nZMezmpW2xce


4. Show that : 

Watch Video Solution

2 tan2 60∘ − 6(sin2 45∘ − tan2 30∘ ) = 5

5. Find the vlaue of .

Watch Video Solution

4 sin2 30∘ + tan2 60∘ + sec2 45∘

6. Find the value of .

Watch Video Solution

− tan2 60∘ + 3cos 90∘ + sin 0∘sin 30∘

cos2 45∘

7. Evaluate : 

Watch Video Solution

sin2 30∘ + sin2 45∘ − 4 cot2 60∘

2sin 30∘ cos 30∘ + tan 60∘1
2

8. 
2 tan 30∘

1 − tan2 30∘

https://dl.doubtnut.com/l/_nZMezmpW2xce
https://dl.doubtnut.com/l/_CWc6GVX7qPPw
https://dl.doubtnut.com/l/_R3ajHO2AFKJ0
https://dl.doubtnut.com/l/_vSZ13Q3RtHj5
https://dl.doubtnut.com/l/_iBbq5NOOpgrd


Watch Video Solution

9. Show that : 

Watch Video Solution

cos2 60∘ − sin2 60∘ = − sin 30∘

10. 

Watch Video Solution

2 tan 30∘

1 − tan2 30∘

11. Show that : 

Watch Video Solution

cos 30∘ = √ 1 + cos 60∘

2

12. Evaluate : 

Watch Video Solution

tan 45∘

2sin 30∘ − cos 60∘

https://dl.doubtnut.com/l/_iBbq5NOOpgrd
https://dl.doubtnut.com/l/_vipCJVNuZbQk
https://dl.doubtnut.com/l/_tWgEsl396Yw6
https://dl.doubtnut.com/l/_84GZGtkwCr22
https://dl.doubtnut.com/l/_EdnWsXfpNcLt
https://dl.doubtnut.com/l/_CTTuHTLiobkm


13. If  verify that 

Watch Video Solution

A = 30∘ cos 3A = 4 cos3 A − 3 cosA

14. If A ,then show that : 

Watch Video Solution

= 45∘ cos 2A = cos2 A − sin2 A

15. If  then verify that 

Watch Video Solution

A = 60∘ , B = = 30∘

cos(A + B) = cosA. cosB − sinA. sinB

16. If A ,then show that : 

Watch Video Solution

= 30∘ tan 2A =
2 tanA

1 − tan2 A

https://dl.doubtnut.com/l/_CTTuHTLiobkm
https://dl.doubtnut.com/l/_QqbBT0L6eGpO
https://dl.doubtnut.com/l/_iJxbmJo6uAFD
https://dl.doubtnut.com/l/_EBQURvbGVuzh


17. If ,then find the value of .

Watch Video Solution

tanA = 1 sin2 A + cos2 A + cot A

18. If , then find the value of .

Watch Video Solution

cos θ =
√3

3
sin 3θ

19. If ,then find the value of 

.

Watch Video Solution

tan(A + B) = √3 and sin(A − B) =
1

2

tan(2A − 3B)

20. If then find the value of 

.

Watch Video Solution

cos(A + B) = 0 and sin(A − B) =
√3

2

tan(A − 3B)

https://dl.doubtnut.com/l/_NI3lRyZF5bTC
https://dl.doubtnut.com/l/_R4GTuGOlnHwX
https://dl.doubtnut.com/l/_xxJx8PaLZYi8
https://dl.doubtnut.com/l/_zJhB2YbMHHgU


Exercise 8 C

21. If , then find the value of B.

Watch Video Solution

A + B = 90∘ and tanA = √3

22. If ,then find the value of B.

Watch Video Solution

A − B = 30∘ and sinA =
√3

2

1. Prove that : 

(i)  

(ii) 

Watch Video Solution

+ = 1
1

1 + tan2 θ

1

1 + cot2 θ

sin2 θ + = 1
1

1 + tan2 θ

2. If , then find the value of .cos θ =
15

17
sin θ

https://dl.doubtnut.com/l/_rCXXsLRuODfV
https://dl.doubtnut.com/l/_7B3ira9EVXF7
https://dl.doubtnut.com/l/_tkVdRel5RxoM
https://dl.doubtnut.com/l/_gbtHUtgQGucY


Watch Video Solution

3. Prove that : (i)  

(ii) 

Watch Video Solution

1 + − cosec2θ = 0
cos2 θ

sin2 θ

= tan2 θ
1 + tan2 θ

cosec2θ

4. Prove that 

Watch Video Solution

1 + = secA
tan2 A

1 + secA

5. Prove that : 

Watch Video Solution

=
cot A − 1

2 − sec2 A

cot A

1 + tanA

6. 

Watch Video Solution

tan2 θ + cot2 θ + 2 = sec2 θ cos ec2θ

https://dl.doubtnut.com/l/_gbtHUtgQGucY
https://dl.doubtnut.com/l/_H7qYDANDfY2z
https://dl.doubtnut.com/l/_FhhfY26X5gEM
https://dl.doubtnut.com/l/_CzM3GGOnU7KW
https://dl.doubtnut.com/l/_0m4zLeU2KRLk


7. Prove that : 

Watch Video Solution

(tanA + cot A)2 = sec2 A + cosec2A

8. Prove that : 

Watch Video Solution

(sec2 A − 1)(cosec2A − 1) = 1

9. Prove the following identities:


Watch Video Solution

cos ec4A − sec2 A = tan4 A + tan2 A

10. Prove that : (i)  

(ii) .

Watch Video Solution

tan2 A − sin2 A = tan2 A ⋅ sin2 A

cot2 θ − cos2 θ = cot2 θ ⋅ cos2 θ

https://dl.doubtnut.com/l/_0m4zLeU2KRLk
https://dl.doubtnut.com/l/_Ydviiqw4kqcw
https://dl.doubtnut.com/l/_QtYiSB7iUZxZ
https://dl.doubtnut.com/l/_2yRHFajjcAam
https://dl.doubtnut.com/l/_dZaACdxZwmCS
https://dl.doubtnut.com/l/_5iySxMV1hKMO


11. Prove that : 

Watch Video Solution

= tan2 θ
1 − tan2 θ

cot2 θ − 1

12. Prove that : 

Watch Video Solution

(secθ − tan θ)2 =
1 − sin θ

1 + sin θ

13. Prove that : 

Watch Video Solution

sec2 θ + cosec2θ = sec2 θ ⋅ cosec2θ

14. Prove that : 

Watch Video Solution

(sinA + cosA)2 + (sinA − cosA)2 = 2

15. Prove that : sin4 θ − cos4 θ = 2 sin2 θ − 1

https://dl.doubtnut.com/l/_5iySxMV1hKMO
https://dl.doubtnut.com/l/_TEYP3a23moZo
https://dl.doubtnut.com/l/_YhA4WJ6rCjJU
https://dl.doubtnut.com/l/_pnt9UzIuf8ay
https://dl.doubtnut.com/l/_kwYtAECodZA1


Watch Video Solution

16. Prove that : (i)  

(ii) 

Watch Video Solution

=
1 − cosA

sinA

sinA

1 + cosA

=
cos θ

1 − sin θ

1 + sin θ

cos θ

17. Prove that : 

Watch Video Solution

+ = 2 secθ
1 + sin θ

cos θ

cos θ

1 + sin θ

18. Prove that : 

Watch Video Solution

+ = 2cosec θ
1 − cos θ

sin θ

sin θ

1 − cos θ

19. Prove that : (i)

+ = 2cosec2A     (ii) − = 2 se
1

1 − cosA

1

1 + cosA

1

1 − sinA

1

1 + sinA

https://dl.doubtnut.com/l/_kwYtAECodZA1
https://dl.doubtnut.com/l/_h7PhJd8FJx8n
https://dl.doubtnut.com/l/_JUyJjrEQUVlJ
https://dl.doubtnut.com/l/_eGFtT6GZRTll
https://dl.doubtnut.com/l/_ZpiGlog1H4ow


Watch Video Solution

20. Prove that : (i)

Watch Video Solution

+ = 2 secθ     (ii) = (cosec 
1

secθ − tan θ

1

secθ + tan θ

cosec θ + cot θ

cosec θ − cot θ

21. Prove that : 

Watch Video Solution

sin6 A + cos6 A + 3 sin2 A cos2 A = 1

22. Prove that : 

Watch Video Solution

(1 + cot θ + cosecθ)(1 + cot θ − cosecθ) = 2 cot θ

23. Prove that : 

Watch Video Solution

=
secA + 1

tanA

tanA

secA − 1

https://dl.doubtnut.com/l/_ZpiGlog1H4ow
https://dl.doubtnut.com/l/_Cu1bScEPx3oc
https://dl.doubtnut.com/l/_GQJZG4abTKhb
https://dl.doubtnut.com/l/_Y3vVTIAfmitF
https://dl.doubtnut.com/l/_xDpne8WQSawy


24. Prove that : 

Watch Video Solution

(sinA − cosA)(cot A + tanA) = secA − cosecA

25. Prove that : 

Watch Video Solution

+ = 1 + secA  cosecA
tanA

1 − cot A

cot A

1 − tanA

26. 

Watch Video Solution

=
tanA + secA − 1

tanA − secA + 1

1 + sinA

cosA

27. If , then prove that

.

Watch Video Solution

tanA + sinA = m and tanA − sinA = n

m2 − n2 = 4√mn

https://dl.doubtnut.com/l/_xDpne8WQSawy
https://dl.doubtnut.com/l/_lJOFpraFBMSL
https://dl.doubtnut.com/l/_Cdi8Kyzwb5vi
https://dl.doubtnut.com/l/_HShnUr3S0J2o
https://dl.doubtnut.com/l/_2gbtUxAmVeZm
https://dl.doubtnut.com/l/_nNVTgLpApkoA


28. If , then show that :

Watch Video Solution

x = a cos θ − b sin θ and y = a sin θ + b cos θ

x2 + y2 = a2 + b2

29. 

Watch Video Solution

(sinA + cos ecA)
2

+ (cosA + secA)
2

= 7 + tan2 A + cot2 A

30. Prove that : 

Watch Video Solution

(1 − tanA)
2

+ (1 − cot A)
2

= (secA − cosecA)
2

31. Prove that : 

Watch Video Solution

= 1 − 2 secA tanA + 2 tan2 A
secA − tanA

secA + tanA

https://dl.doubtnut.com/l/_nNVTgLpApkoA
https://dl.doubtnut.com/l/_09iCkHelyPQY
https://dl.doubtnut.com/l/_3tPwMuuf7Tcq
https://dl.doubtnut.com/l/_70aQq87VUxvz


32. Prove that : 

Watch Video Solution

√ + √ = 2cosecA
1 + cosA

1 − cosA

1 − cosA

1 + cosA

33. If  prove that = 

Watch Video Solution

tan2 θ = 1 − e2 secθ + tan3 θ cos ecθ (2 − e2)
3
2

34. यदि  और , है तो  का मान क्या होगा?

Watch Video Solution

= n
coα

cos β
= m

cosα

cos β
cos2 β

35. If ,prove that 

Watch Video Solution

secθ = x +
1

4x
secθ + tan θ = 2x or ⋅

1

2x

https://dl.doubtnut.com/l/_jbbFabIZfiaB
https://dl.doubtnut.com/l/_a80FUIGCSsg9
https://dl.doubtnut.com/l/_Uk9WeEQx5MJX
https://dl.doubtnut.com/l/_TXY9Prinmzhq


36. If  , ,show that

.

Watch Video Solution

x = a secθ cos ϕ y = secθ sinϕ and z = c tan θ

+ − = 1
x2

a2

y2

b2

z2

c2

37. Prove: 

Watch Video Solution

(1 + tan2 A) + (1 + ) =
1

tan2 A

1

sin2 A − sin4 A

38. The value of  is equal to

Watch Video Solution

sin θ − 2 sin3 θ

2 cos3 θ − cos θ

39. Eliminate  from .

Watch Video Solution

α x = a sinα + b cosα and y = a cosα − b sinα

https://dl.doubtnut.com/l/_rrOnqwWkluR2
https://dl.doubtnut.com/l/_EPGKIq43GLXj
https://dl.doubtnut.com/l/_BqhNry7CxK30
https://dl.doubtnut.com/l/_rhnSUpOZpV5h


Exercise 8 D

40. If ,then prove that : 3

Watch Video Solution

7(cosec θ − 1) = 3 cot θ

(cosec θ + 1) = 7 cot θ

41. If ,then show that .

Watch Video Solution

= p, = q
cosA

cosB

sinA

sinB
= cos2 A

p2(1 − q2)

p2 − q2

42. If 
is equal to
 
(b)


(c) 
(d) 

Watch Video Solution

x = , then
2 sin θ

1 + cos θ + sin θ

1 − cos θ + sin θ

1 + sin θ
1 + x

1 − x x
1

x

https://dl.doubtnut.com/l/_2XV7rmeSz64b
https://dl.doubtnut.com/l/_Jp6WOjTohzk8
https://dl.doubtnut.com/l/_JY1XPFWOQ4Mu


1. Check whether the following equations are identities or not ? 

(i)  

(ii)  

(iii)  

(iv)  

(v)  

(vi) 

View Text Solution

=
cos θ

1 − sin θ

1 + sin θ

cos θ

+ = 2cosec2θ
1

1 + cos θ

1

1 − cos θ

=
sin2 θ

1 − sin2 θ

1

3

sin2 θ + cos2 θ = 1

= cot θ
1 + cos θ − sin2 θ

sin θ + sin θ cos θ

1 + = secθ
tan2 θ

1 + secθ

2. Solve the following equations for  : 

(i)  

(ii)  

(iii)  

(iv)  

(v) 

Watch Video Solution

0∘ ≤ θ ≤ 90∘

2 cos2 θ =
1

2

4 sin2 θ − 3 = 0

sin2 θ − sin θ = 0
1

2

tan2 θ − (√3 + 1)tan θ + √3 = 0

sin θ − cos θ = 0

https://dl.doubtnut.com/l/_AKR2RSBCcRZH
https://dl.doubtnut.com/l/_znAJrmtY1BZE


3. If  , then solve the following equations : 

(i)  

(ii)  

(iii) 

Watch Video Solution

0∘ ≤ θ ≤ 90∘

+ = 4
cos θ

1 − sin θ

cos θ

1 + sin θ

= 1
cos2 θ − 3 cos θ + 2

sin2 θ

+ = 2
cos θ

cosecθ + 1

cos θ

cosecθ − 1

4. If ,then find the value of .

Watch Video Solution

tan θ = sin θ and 0∘ ≤ θ ≤ 90∘ θ

5. If , then find the value of sin A.

Watch Video Solution

2 sin2 A = sin2 60∘ + sin2 45∘

6. If , then find the value of 'x'

Watch Video Solution

cos2 30∘ + cos2 45∘ + cos2 60∘ = x

https://dl.doubtnut.com/l/_ZlHLkzpRDn9N
https://dl.doubtnut.com/l/_GmhTUklaw4Sp
https://dl.doubtnut.com/l/_wzgK6pOHBSj5
https://dl.doubtnut.com/l/_tR1mqdNgVn4a


Exercise 8 E

1. Without using trigonometric tables , evaluate : 

(i)  

(ii)  


(iii)  

(iv)  

(v)  

(vi) 

Watch Video Solution

sin 11∘

cos 79∘

sec 15∘

cosec75∘

tan 54∘

cot 36∘

cos 68∘

sin 22∘

cosec24∘

sec 66∘

cot 18∘

tan 72∘

2. Without using trigonometric tables , evaluate : 

(i)  

(ii)  

(iii)  

(iv) 

+
sin 40∘

cos 50∘

3tan 50∘

cot 40∘

−
sec 37∘

cosec 53∘

tan 20∘

cot 70∘

+ − sin 18∘ sec 72∘cos 74∘

sin 16∘

sin 12∘

cos 78∘

sin 35∘ sec 55∘ +
4sec 32∘

cosec 58∘

https://dl.doubtnut.com/l/_tR1mqdNgVn4a
https://dl.doubtnut.com/l/_fKhzNYEyv5v7
https://dl.doubtnut.com/l/_QIyli8RYZBH8


Watch Video Solution

3. Without using trigonometric tables , prove that : 

(i)  

(ii)  

(iii)  

(iv)  

(v)  

(vi) 

Watch Video Solution

sin 50∘ − cos 40∘ = 0

tan 36∘ − cot 54∘ = 0

sec 25∘ − cosec 65∘ = 0

sin2 32∘ + sin2 58∘ = 1

cosec239∘ tan2 51∘ = 1

sec2 10∘ − cot2 80∘ = 1

4. Prove that : 

(i)  

(ii)  

(iii)  

(iv) 

Watch Video Solution

sin θ cos(90∘ − θ) + sin(90∘ − θ)cos θ = 1

secθ  cosec(90∘ − θ) − tan θ cot(90∘ − θ) = 1

− = 0
sin θ ⋅ sec(90∘ − θ)cot(90∘ − θ)

cosec(90∘ − θ) ⋅ cos θ ⋅ tan θ

tan(90∘ − θ)

cot θ

+ = 2cosecθ
1 + sin(90∘ − θ)

cos(90∘ − 0)

cos(90∘ − θ)

1 + sin(90∘ − 0)

https://dl.doubtnut.com/l/_QIyli8RYZBH8
https://dl.doubtnut.com/l/_wDfzoEJZ9Tqw
https://dl.doubtnut.com/l/_80frNjmMOfFe


Watch Video Solution

5. Without using trigonometric tables , prove that : 

(i)  

(ii)  

(iii)  

(iv) 

Watch Video Solution

tan 20∘ tan 40∘ tan 45∘ tan 50∘ tan 70∘ = 1

tan 1∘ tan 2∘ tan 60∘ tan 88∘ tan 89∘ = √3

cot 5∘ cot 10∘ cot 30∘ cot 80∘ cot 85∘ = √3

4sin 10∘ sin 20∘ sin 30∘ sec 70∘ sec 80∘ = 2

6. Express each of the following in terms of trigonometric ratios of angles

lying between . 

(i)  

(ii)  

(iii)  

(iv) 

Watch Video Solution

0∘ and 45∘

sin 70∘ + cos 70∘

sec 76∘ tan 48∘

cot 68∘ + cosec62∘

sin 85∘ + cosec82∘

https://dl.doubtnut.com/l/_80frNjmMOfFe
https://dl.doubtnut.com/l/_Z55c4fWBxmMb
https://dl.doubtnut.com/l/_2u9lhNN0dhkH
https://dl.doubtnut.com/l/_62RN6MnvjmJ4


7. Evaluate :

Watch Video Solution

sin2 25∘ + sin2 65∘ + √3tan 5∘ tan 15∘ tan 30∘ tan 75∘ tan 85∘

8. Evaluate :

Watch Video Solution

tan 7∘ tan 23∘ tan 60∘ tan 67∘ tan 83∘ + + sin 20∘ sec 70∘ − 2
cot 54∘

tan 36∘

9. The value of  is

Watch Video Solution

cot 18∘(cot 72∘ cos2 22∘ + )
1

tan 72∘ sec2 68∘

10. Evaluate : 

Watch Video Solution

3tan 25∘ tan 40∘ tan 50∘ tan 65∘ − tan2 60∘1
2

4(cos2 29∘ + cos2 612)

https://dl.doubtnut.com/l/_62RN6MnvjmJ4
https://dl.doubtnut.com/l/_hSTRnKjInhs7
https://dl.doubtnut.com/l/_ZJCbXiv9kD6s
https://dl.doubtnut.com/l/_vmIWTx55w1OE
https://dl.doubtnut.com/l/_e6bRONBcE0S8


11. Evaluate : 

Watch Video Solution

+ (sin2 40∘ + sin2 50∘ )
sec2 θ − cot2(90∘ − θ)

cosec267∘ − tan2 232

12. Evaluate :

Watch Video Solution

2( ) − − sin 90∘ + tan 5∘ tan 35∘ tan 60∘ tan 55∘ tan 85∘cos 65∘

sin 25∘

tan 20∘

cot 70∘

13. If  is an acute angle , find the value of

A.

Watch Video Solution

sin 2A = cos(A − 12∘ ) and 2A

14. If  where 3A is an angle , find A.

Watch Video Solution

tan 3A = cot(A − 10∘ )

https://dl.doubtnut.com/l/_e6bRONBcE0S8
https://dl.doubtnut.com/l/_weemfCRoK76u
https://dl.doubtnut.com/l/_qpHLVm0nY3u8
https://dl.doubtnut.com/l/_Hrn18F8pgxbb
https://dl.doubtnut.com/l/_1v6w9fKEUN68


Revision Exercise Very Short Answer Questions

15. If  is an acute angle , find the

vlaue of A.

Watch Video Solution

sec 5A = cosec(4A − 18∘ ) and 5A

16. 

Watch Video Solution

sin2 5∘ + sin2 10∘ + sin2 15∘ + ....... + sin2 85∘ + sin2 90∘ =

1. If ,then find the value of .

Watch Video Solution

tan θ =
3

4
cos θ

2. If ,then find the value of .

Watch Video Solution

secθ =
13
12

cot θ

https://dl.doubtnut.com/l/_1v6w9fKEUN68
https://dl.doubtnut.com/l/_aIK1RiijQKlm
https://dl.doubtnut.com/l/_Co5ysPOumqtW
https://dl.doubtnut.com/l/_kRo6LdRKi4wo


3. if , then the value of  is

Watch Video Solution

tan θ =
4
3

3 sin θ + 2 cos θ

3 sin θ − 2 cos θ

4. If ,then find the value of .

Watch Video Solution

sin θ =
3

4
(2 cos2 θ − 3 sin2 θ)

5. If ,then find the value of .

Watch Video Solution

tan θ = √3 sin θ

6. If ,then find the value of .

Watch Video Solution

cos θ =
1

√2
(tan2 θ + 1)

https://dl.doubtnut.com/l/_kRo6LdRKi4wo
https://dl.doubtnut.com/l/_NxmLI6aFJObh
https://dl.doubtnut.com/l/_RQE61EDYnVie
https://dl.doubtnut.com/l/_OhGoZSXk33bI
https://dl.doubtnut.com/l/_FTBh7VaeHrMi


7. If , then find the value if sin AcosB

+cosAsinB.

Watch Video Solution

sinA = and sinB =
√3

2

1

2

8. If ,then find the value of .

Watch Video Solution

cos θ =
1

2
4 cos3 0 − 3 cos 0

9. If ,then find the value of .

A. 

B. 

C. 

D. 

Answer: B

h id l i

sin θ =
7
25

tan2 θ

7
24

49

576

1

2

49
625

https://dl.doubtnut.com/l/_LsH0xSUHSZKK
https://dl.doubtnut.com/l/_f9TLKzSHf4hg
https://dl.doubtnut.com/l/_IIRkNFZeBWRp


Watch Video Solution

10. If ,then find the value of .

Watch Video Solution

cosecθ = √2 (tan2 θ − 1)

11. If , then find the value of 

Watch Video Solution

sin θ =
1

2
sin 2θ

12. If ,then find the value of .

Watch Video Solution

cos θ =
1

√2
cos 2θ

13. Find the value of .

Watch Video Solution

(1 − 2 sin2 30∘ )

https://dl.doubtnut.com/l/_IIRkNFZeBWRp
https://dl.doubtnut.com/l/_Et4bSg4cI6dB
https://dl.doubtnut.com/l/_nUsh5ORwPgJ9
https://dl.doubtnut.com/l/_dQYA4ocgVx1j
https://dl.doubtnut.com/l/_0tV31umVsLLq
https://dl.doubtnut.com/l/_sEfIoVEKc0wZ


14. If sinA=cosA,then find the value of sin 2A.

Watch Video Solution

15. If ,then find the value of .

Watch Video Solution

secθ =
2

√3
sec 2θ

16. If ,then find the value of 

Watch Video Solution

cosecθ = 2 cosec3θ

17. Evaluate .

Watch Video Solution

cos 45∘ cos 30∘ + sin 45∘ sin 30∘

18. Evaluate .
tan 60∘ − tan 30∘

1 + tan 60∘ tan 30∘

https://dl.doubtnut.com/l/_sEfIoVEKc0wZ
https://dl.doubtnut.com/l/_UhaQLv9G5Wfk
https://dl.doubtnut.com/l/_nIvYpJ4qNTfF
https://dl.doubtnut.com/l/_9QtV39d2fDHG
https://dl.doubtnut.com/l/_bxLH4KbhLbCk


Watch Video Solution

19. Find the value of .

Watch Video Solution

(1 − sin2 A)(1 + tan2 A)

20. Find the value of .

Watch Video Solution

sin2 θ ⋅ sec2 θ

21. Find the value of .

Watch Video Solution

(1 − cos2 A) ⋅ cosec2A

22. Find the value of .

Watch Video Solution

(cosec2A − 1) ⋅ tan2 A

https://dl.doubtnut.com/l/_bxLH4KbhLbCk
https://dl.doubtnut.com/l/_zFcc4NgNSNyf
https://dl.doubtnut.com/l/_79FSFf5eTg6o
https://dl.doubtnut.com/l/_3BbSSsON9Zip
https://dl.doubtnut.com/l/_2OCRpLtWfO3c
https://dl.doubtnut.com/l/_TaiBohdrio7X


23. Find the value of .

Watch Video Solution

(sec2 A − 1)

24. Find the value of .

Watch Video Solution

cot θ ⋅ sin θ ⋅ secθ

25. Find the value of .

Watch Video Solution

√1 − cos2 A

26. If 
then the value of 
 is
2 (b) 1
 (c)

-2 (d) 0

Watch Video Solution

sinA + sin2 A = 1, cos2 A + cos4 A

https://dl.doubtnut.com/l/_TaiBohdrio7X
https://dl.doubtnut.com/l/_GvRCewr3YgOo
https://dl.doubtnut.com/l/_tv4WTC1dr8QW
https://dl.doubtnut.com/l/_faZl2kY7ow8d


27. If ,then find the value of .

Watch Video Solution

tan θ =
a

b

cos θ + sin θ

cos θ − sin θ

28. If ,then find the value of .

Watch Video Solution

cos θ + sin θ = √2 cos θ
cos θ − sin θ

sin θ

29. Find the value of .

Watch Video Solution

tan 25∘

cot 65∘

30. Find the value of .

Watch Video Solution

sin 50∘ − cos 40∘

31. Evaluate .sin 10∘ sec 80∘ + 4tan 45∘

https://dl.doubtnut.com/l/_NhpsidfT7m0g
https://dl.doubtnut.com/l/_vktyyMtNNoVw
https://dl.doubtnut.com/l/_sIqPlHaWO1mm
https://dl.doubtnut.com/l/_95kvllG21SLl
https://dl.doubtnut.com/l/_RX8OLmQtLHZ6


Watch Video Solution

32. Evaluate .

Watch Video Solution

+
sin 35∘

cos 55∘

sec 20∘

cosec70∘

33. Evaluate .

Watch Video Solution

sin2 26∘ + sin2 64∘

34. Evaluate .

Watch Video Solution

tan 20∘ tan 25∘ tan 65∘ tan 70∘

35. Evaluate .

Watch Video Solution

cosec257∘ − tan2 33∘

https://dl.doubtnut.com/l/_RX8OLmQtLHZ6
https://dl.doubtnut.com/l/_1Ni0gtxQs8D5
https://dl.doubtnut.com/l/_zCsw2gTMzjAt
https://dl.doubtnut.com/l/_9QJPf5EAeYLV
https://dl.doubtnut.com/l/_qC4yZofbDeGW


Revision Exercise Short Answer Questions

36. Evaluate .

Watch Video Solution

2(cos2 28∘ − sin2 62∘ )

37. Evaluate .

Watch Video Solution

sin(30∘ + θ) − cos(60∘ − θ)

38. Evaluate .

Watch Video Solution

sin θ cos(90∘ − θ) + cos θ sin(90∘ − θ)

1. If , check whether or not.

Watch Video Solution

3 cot A = 4 = cos2 A − sin2 A
1 − tan2 A

1 + tan2 A

https://dl.doubtnut.com/l/_awZaXUNkWxUt
https://dl.doubtnut.com/l/_WFjH4224Gg8W
https://dl.doubtnut.com/l/_jbqkJ5LTNuR4
https://dl.doubtnut.com/l/_pSsVOivftmZd


2. In ,find the value of sin A

cosB+cosAsinB.

Watch Video Solution

ΔABC, ∠C = 90∘ and tanA =
1

√3

3. If , show that .

Watch Video Solution

cosecθ = 2 (cot θ + ) = 2
sin θ

1 + cos θ

4. If ,show that .

Watch Video Solution

sin θ = 0.8 5 sin θ − 3 tan θ = 0

5. If ,verify that .

Watch Video Solution

cos θ =
8

17
=

3 − 4 sin2 θ

4 cos2 θ − 3

3 − tan2 θ

1 − 3 tan2 θ

https://dl.doubtnut.com/l/_fV72W9x1S4ox
https://dl.doubtnut.com/l/_hMKlToZe4H7T
https://dl.doubtnut.com/l/_1oZH1N8wW8RB
https://dl.doubtnut.com/l/_vyJB2QVenIkE


6. If ,verify that .

Watch Video Solution

sin θ =
3

5
= sin θ cos θ

tan θ

1 + tan2 θ

7. If ,show that .

Watch Video Solution

cot θ =
b

a
=

a sin θ − b cos θ

a sin θ + b cos θ

a2 − b2

a2 + b2

8. find the value of 

Watch Video Solution

sin 60∘ cos 30∘ + sin 30∘ cos 60∘

9. Verify that : 

Watch Video Solution

sin 60∘ = 2sin 30∘ cos 30∘

10. If A ,verify that cos2A .= 30∘ = cos2 A − sin2 A

https://dl.doubtnut.com/l/_8YUGVqfOfxeq
https://dl.doubtnut.com/l/_3O8DB1t3fhAl
https://dl.doubtnut.com/l/_inOkNmiWAs1Z
https://dl.doubtnut.com/l/_Ztkpzi614iYl
https://dl.doubtnut.com/l/_o1UqRJNfeyLi


Watch Video Solution

11. if A=  then verify
sin2A=2sinAcosA ,

Watch Video Solution

45o cos 2A = 1 − sin2 A

12. Using the formula cos A , find the value of , it

is given that .

Watch Video Solution

= √
1 + cos 2A

2
cos 30∘

cos 60∘ =
1

2

13. In the adjoining figure ,  is a right - angled triangle , right -

angled at B. If , Find (i)BC (ii)AB. 

ΔABC

∠A = 30∘ and AC = 8cm

https://dl.doubtnut.com/l/_o1UqRJNfeyLi
https://dl.doubtnut.com/l/_eetAl4W116Tr
https://dl.doubtnut.com/l/_yntnycOf50Jm
https://dl.doubtnut.com/l/_rLBWc2ScEIyw


View Text Solution

14. If 
`0o B`
, find A and B.

Watch Video Solution

sin(A − B) = , cos(A + B) = ,
1

2

1

2

15. Find the value of  geometrically.

Watch Video Solution

sin 30∘

https://dl.doubtnut.com/l/_rLBWc2ScEIyw
https://dl.doubtnut.com/l/_wsmMDWROVbCZ
https://dl.doubtnut.com/l/_yAlO9y0KpDqX
https://dl.doubtnut.com/l/_qS2FWjxuqPWi


16. Find the value of  geometrically.

Watch Video Solution

sin 60∘

17. Prove that .

Watch Video Solution

√sec2 θ + cos ec2θ = tan θ + cot θ

18. Prove that : 

Watch Video Solution

√ = cosecθ + cot θ
1 + cos θ

1 − cos θ

19.  is equal to

Watch Video Solution

√ + √
1 + sin θ

1 − sin θ

1 − sin θ

1 + sin θ

20. Prove that : tan2 θ − sin2 θ = tan2 θ sin2 θ

https://dl.doubtnut.com/l/_qS2FWjxuqPWi
https://dl.doubtnut.com/l/_zPUOQCfDz8N0
https://dl.doubtnut.com/l/_cQvH57Okt4ZB
https://dl.doubtnut.com/l/_7bFFFioKvv4W
https://dl.doubtnut.com/l/_AhIAunJqDjvL


Watch Video Solution

21. Prove that : 

Watch Video Solution

=
tanA + sinA

tanA − sinA

secA + 1

secA − 1

22. Prove that : 

Watch Video Solution

sin2 A cos2 B − cos2 A sin2 B = sin2 A − sin2 B

23. Prove that : 

Watch Video Solution

sin2 θ + cos4 θ = cos2 θ + sin4 θ

24. Prove that : 

Watch Video Solution

sin2 θ + = 1
1

1 + tan2 θ

https://dl.doubtnut.com/l/_AhIAunJqDjvL
https://dl.doubtnut.com/l/_eJLOcOcu7EdX
https://dl.doubtnut.com/l/_68Jpespy9IKn
https://dl.doubtnut.com/l/_6YpDxcUN7ydI
https://dl.doubtnut.com/l/_s6fmRzgautuk


25. Prove that : 

Watch Video Solution

(1 − cos θ)(1 + cos θ)(1 + cot2 θ) = 1

26. Prove that : 

Watch Video Solution

+ = 1
tan2 θ

1 + tan2 θ

cot2 θ

1 + cot2 θ

27. If  where 3A is an angle , find A.

Watch Video Solution

tan 3A = cot(A − 10∘ )

28. If  where 5A is an acute angle , find A.

Watch Video Solution

cos 5A = sin(A − 30∘ )

29. Show that : + = 2
cot(90∘ − θ) ⋅ sin(90∘ − θ)

sin θ

cot 50∘

tan 40∘

https://dl.doubtnut.com/l/_M0qJ4MeGNm4l
https://dl.doubtnut.com/l/_tT7xBkiBhLAa
https://dl.doubtnut.com/l/_lFvhhv5m98mE
https://dl.doubtnut.com/l/_r8FyMA80ufiU
https://dl.doubtnut.com/l/_1QeAZBYNZwo1


Watch Video Solution

30. Prove the following:

Watch Video Solution

+ = 2
cos(900 − θ)sec(900 − θ)tanθ

cos ec(900 − θ)sin(900 − θ)cot(900 − θ)

tan(900 − θ)

cot θ

31. Show that : 

Watch Video Solution

cos 15∘ cos 35∘ cosec55∘ sin 30∘ cosec75∘ =
1

2

32. Express  in terms of trigonometric ratios

of angles lying between 

Watch Video Solution

cos 70∘ + sin 70∘ + tan 65∘

0∘ and 45∘

33. Evaluate : sin 50∘ cos 40∘ + cos 40∘ + cos 50∘ sin 40∘

https://dl.doubtnut.com/l/_1QeAZBYNZwo1
https://dl.doubtnut.com/l/_k569FIPxamrF
https://dl.doubtnut.com/l/_p4z7JY9LRZHX
https://dl.doubtnut.com/l/_BPcnl27bPulb
https://dl.doubtnut.com/l/_bBA7X5bUO8fX


Revision Exercise Long Answer Questions

Watch Video Solution

1. Prove that : 

Watch Video Solution

+ = 1 + secθ  cosec θ
tan θ

1 − cot θ

cot θ

1 − tan θ

2. Prove that : 

Watch Video Solution

+ = 1 + sin θ cos θ
cos2 θ

1 − tan θ

sin3 θ

sin θ − cos θ

3. Prove that : 

Watch Video Solution

+ =
sin θ − cos θ

sin θ + cos θ

sin θ + cos θ

sin θ − cos θ

2

2 sin2 θ − 1

4. Prove that : + = 1
sin θ

secθ + tan θ − 1

cos θ

cosecθ + cot θ − 1

https://dl.doubtnut.com/l/_bBA7X5bUO8fX
https://dl.doubtnut.com/l/_wgvGA7Ql5Hwt
https://dl.doubtnut.com/l/_OeKtZiPcUyuN
https://dl.doubtnut.com/l/_tPrumDHtRObI
https://dl.doubtnut.com/l/_nZY4KlsLHLqo


Watch Video Solution

5. Prove the following identity:

Watch Video Solution

( + )sin2 θ cos2 θ =
1

sec2 θ − cos2 θ

1

cos ec2θ − sin2 θ

1 − sin2 θ cos2 θ

2 + sin2 cos2 θ

https://dl.doubtnut.com/l/_nZY4KlsLHLqo
https://dl.doubtnut.com/l/_BQ6YeiMG28yT

